Trivia Quiz
by Words Up Games
Q1) What kind of animal is a Rottweiler?

Q2) Which city is the HQ of the International Red Cross?

Q3) Which revolution was Robespierre associated with?

A) Glorious Revolution B) French Revolution C) American Revolution D) October Revolution

Q4) What famous tower would you find in the 7th arrondissement of Paris?

Q5) From which novel is this quote: "It was a bright cold day in April, and the clocks were striking thirteen."

Q6) What does an isotope have a different number of?

A) Orbitals B) Neutrons C) Electrons D) Protons

Q7) In which state is Area 57 located?

Q8) How many prime numbers are there?

A) 1,000,000 B) Infinitely many C)50 D) 1,256

Q9) What is the most abundant gas on Earth?

Q10) How many stars form Orion's Belt within the Orion constellation?

Q11) Which great civilisation started on seven hills above the River Tiber?

A) The Greeks B) The Romans C) The Babylonians D) The Turks

Q12) Which famous scientist can you find by rearranging TEN ELITE BRAINS?

Q13) In computing, what is Mac short for?

Q14) Which plant has the largest flower in the world?

Q15) Which sense may be aided by the Jacobson's organ?

A) Smell B) Hearing C) Taste D) Sight
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Trivia Quiz Answers

by Words Up Games
Q1) What kind of animal is a Rottweiler?
Dog
Q2) Which city is the HQ of the International Red Cross?

Geneva

Q3) Which revolution was Robespierre associated with?

Wordsiup

A) Glorious Revolution B) French Revolution C) American Revolution D) October Revolution

Q4) What famous tower would you find in the 7th arrondissement of Paris?

Eiffel Tower

Q5) From which novel is this quote: "It was a bright cold day in April, and the clocks were striking thirteen."

1984
Q6) What does an isotope have a different number of?
A) Orbitals B) Neutrons C) Electrons D) Protons

Q7) In which state is Area 57 located?
Nevada
Q8) How many prime numbers are there?
A) 1,000,000 B) Infinitely many C)50 D) 1,256
Q9) What is the most abundant gas on Earth?
Nitrogen
Q10) How many stars form Orion's Belt within the Orion constellation?
3
Q11) Which great civilisation started on seven hills above the River Tiber?
A) The Greeks B)The Romans C) The Babylonians D) The Turks
Q12) Which famous scientist can you find by rearranging TEN ELITE BRAINS?
Albert Einstein
Q13) In computing, what is Mac short for?
Macintosh
Q14) Which plant has the largest flower in the world?
Rafflesia arnoldii

Q15) Which sense may be aided by the Jacobson's organ?

A) Smell B) Hearing C) Taste D) Sight
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